Name ____________________________________________  Date __________________ Score ___________

HW #9 Reasonable Domain and Range, Function Notation

	1)   A car can travel 30 miles on a gallon of gas and has a 20- gallon tank.

Discrete or Continuous? Explain your reasoning ________________________________________________________________

Function Rule ____________________________________

Domain _________________________________                        Range ___________________________________

	2)  Joe had a summer job that pays $7.00 an hour and he worked between 15 and 35 hours every week.

Discrete or Continuous? Explain your reasoning ________________________________________________________________

Function Rule ____________________________________

Domain _________________________________                        Range ___________________________________



	3)   There is 12,000 gallons of water in a tank. It is being drained at a rate of 2, 000 gallons per hour. Write a function representing the amount of water remaining in the tank after h hours.
Discrete or Continuous? Explain your reasoning ________________________________________________________________

Function Rule ____________________________________

Domain _________________________________                        Range ___________________________________



	4) A family is planning a trip to an amusement park. They are taking a car which holds up to 5 people. It will cost $25 for parking and the admission fee is $22.50 per person.
Discrete or Continuous? Explain your reasoning ________________________________________________________________

Function Rule ____________________________________

Domain _________________________________                        Range ___________________________________




Find the value of each function for f(-2), f(0) and f(5).
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Interpret the meaning of each statement.

	9)  Let c(t) be the number of customers in a restaurant t hours after 8am. 

a) c(0) = 0

b) c(3) = c(8)
	10)  Let H(x) be the percent of the US households with Internet use x years after 1980.

a) H(23) = 55

b) H(17) + H(21) = H(29)




Find the value of x so that the function has the given value.
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